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Adding Integers Adding Integers
Froplem Model Angwer Problem Answer Froblam Rule Ussd  Anawer
1. -34-2= 1, Ba-2= 1. 10+ 8=
2. b4+-2= L 29 B4 9= 2. H3+ 20=
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8. £ +8= B. 584+-8=
9. -B4+-U= §. 204-20=
10, 74-1= 10. 17 4+-8=
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. 14 10 =
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Subiracting Integers Multiplying Integers Multiplying Integers
Problem Answer Problem  Ruie Answer Broblem Rule Answer
1. -B-1= 1. Jxe= 1. 10 x-2=
2. 1-§= 8. By 8= 2. =12 ¥ -3=
E-‘ 9. -1-%= E;; - 3 -1 x-2= (S; h 3. 9 x-8= :g}
[ Pu 2- (9= > P L. B X -1= [ax2 Dy 1x-18= fant
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6 -&-3= 6 Bx 2= B. -20x% %=
7. E-[9)= 7. B ¥ -E= 7. -18x -G=
8. =1={n= 8. Tx 1= B. -2 X 8=
8. -2-2= 9. 8 x 3=

Name ___________ f Neme ____ Neme ___________
Dividing Integers Pividing Integers Solving Froblems with Integers
Problem Rule Answer Froblem Rule Answer Problem Answesr

1 g - 2= 1. B0+ 2= 1. f88+ 11=

2, -12 + §= 2. -86 = -11= R
. . L+ . - 1 e
-l §+-8= (:3 h & 81 - -8= (33 - 5 (33
KD 4 1§ - -5 = [ant KD o 38 - a= > D g [an2
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| L5 - =-1= L L © 49 =« -7 = L | L5 T = NP

8. -20 -~ 4= T 8 H04+ %=

7 -16 + 8= 7. =100 10= 7 10 + 10=

8. -1% 9= 8. -76 =26= 8 21 + V=

8 18 - 4= a =16 - 18=

10. 18+ 2= 0. -8 -12=
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Integer Match

Match each phrase to the correct integer by drawing a line

1.a drop of 15 dedgrees

2. an increase of $40

3. a decrease of 7 pounds
4. a profit of $9

5.7 feet above sea level
8. the team gains 3 yards
7. stock prices fall $40

8. 12 degrees below zero
9.8 feet below sea level
10. the temperature rises 6 degrees
11. the team loses 6 yards
12. a gain of 15 pounds




Integer Match
KEY

1. a drop of 15 degrees -40
2. an increase of $40 7

3. a decrease of 7 pounds
_6 =z

4. a profit of $9 ( ' 40
5. 7 feet above sea level ‘ -15
\ -12

6. the feam gains 3 yards

/>
7. stock prices fall $40 "“ -8

8. 12 degrees below zero ‘ 6
9. 8 feet below sea level -7
10. the temperature rises 6 degrees 9

11. the team loses 6 yards

12. a gain of 15 pounds
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Adding Inteders

Problem Model Answer
1. -3+ -2 =
2. b +-2=

3. 24+ -1= T~
)

D} -3+ 3 = C
5. 5+ -2 =

6. -1+-1=
7. -6+ 4=
8. -5 +3=
9. 6+-4=
10. 7+-1=
11, T4+ -1=
12. -2+ -2 =

= -
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Problem

1. 3+-2=
I +-2=
2+-1=
34+ 8 =
5+ -2=
A+-1=
6+ 4 =
-5 +3=
64+ -4=
10. 7+-1=
11 F+-1=
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Adding Inteders

Problem
1. 8+-2=
-5+ 9=

. -10+-1=

74+ -3 =

2

3

I

5. -9+-4=
6. -11+-3=
7. 15+ -8=

8. 5 +-3=

9. -20+-20 =
10. 17 +-56=
1. -7+-6=

12. -14 + -10 =

Answer
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Name ___________
Adding Integers
Problem Answer
1. 8+-2-= 6
2. -B+ 9= I
)‘3. -10+-1= -11
SE. 7+ -8 = I
5. -9+-4 = -13
6. -11+-3= -14;
7. 15+ -8= 7
8. 5 +-3= 2
9. -20+-20 = -0
10. 17 + -5 = 12
11. -7+ -6 = -13
12. -14 + -10 = -214
(
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Name ____
Adding Inteders
Problem Rule Used Answer
1. 10+-9=
2. -33+-20=
) 3. 19+ 6 = N
P4 214-6 = C
5. -17 +-11=
8. -1} +-23=
7. F0+-2=
8. 380 +-30=
9. -18+-8=
10. 28+ -6 =
11. -85+ 60 =
12. -3 +79=
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) 3.
P 1.
5.
6.
7.
8.
9.

10.

Problem
10+ -9 =

-

Adding Inteders

Rule Used
Different

-33 + - 20 = Same

-19+ 6 =
-14+-23 =
-17 + - 11 =
-4+ - 23 =
4O+ -5 =
30 + -30 =
-15 + -8 =
28+ -6 =

. -55 4+ 60 =

-4+ 79 =

Different
Same
Same
Same
Different
Different
Same
Different
Different
Different
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1.
2.
3.
4
5.
6
7/
8
9
10.

11.
12.

Problem
-5-1=

9 _
-1 -4 =
2- (-9)
-4 -2 =
-4 -3=
5 -(-2)

-1 - (-1)
9 -2 =
7 -6=

2 _

-

Subtracting Integers

Answer

SHEEI =
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D
D

2.
3.
4
5.
6
7/
8
9

10.
11.
12.

-

Subtracting Integers

Problem Answer
-5-1= -6
1-3= -2
-1 -4 = -5
9. (-8)= 5
-4 -2= -6
- -3 = -7
5 - (-2) = 7
A (-1) = 0
-2 -2 = -I
7 -6 = 1
2 -6= -4
-1 -7 = -8
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Multiplying Integers

Problem Rule Answer
1. -9 X 2=
b x -3=

S

6 X -1=

2

3

I

B. 1 X -9=
6. -8 X 2=
7. -5 X -2=
8. -7 X 1=
9. -6 X 2=
10. 2 X &=
11. -3 X -7 =

12. -2 X -2 =

-

= -
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Name _____
Multiplying Integers
Problem Rule Answer
1. -9 x 2= Different -18
2. O x -3=Different -12
) 3. -1 X -2=Same 2
P 4. 6 x -1=Different 6
5. 1 x -9 =Different -9
6. -8 x 2= Different -16
7. -5 X -2=3ame 10
8. -7 x 1= Different -7
9. -6 x 2=Different -12
10. 2 X 5 =3ame 10
11. -8 X -7 =3ame 21
12. -2 X -2 =3ame I

= -
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. -2 x 24 =

3
-

Multiplying Integers

Problem Rule Answer
10 X -2 =
-12 X -3 =

-4 x -50 =

\\—
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Multiplying Integers

Problem Rule
10 x -2 = Different
-12 X -3 = 3ame
-9 X -6 = Same
1 X -19 = Different
-8 X -9= Jame
-20 x 4 = Different
-15 X -3 = Same
-2 X 16 = Different
-6 x 30 = Different
8 X 7= Same

. -2 X -23 = Same
-4 x -80 = Same

Answer
-20
36
51
-19
72
-80
45
-32
-180
56
18
200
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Dividing Integers

Problem Rule
-80 + 2=
-66 + -11=
-81 + -9=
-36 + 6 =
-39 + -7 =
20 + 4=
-100 + 10 =
-756 + 285 =
-15 + 186 =
-08 + -12 =
60 + -20 =
o+ 0=

Answer
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Dividing Integers

Problem Rule
-80 + 2= Different
-66 + -11 = Same
-81 + -9 =35ame
-36 + 6= Different
-9 + -7 = 3ame
20 + O = Same
-100 + 10 = Different
-75 + 25 = Different
-16 + 156 = Different
-8 + -12 = Same
60 + -20 = Different
-+ -2 = Same

SO
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Dividing Integers

Rule Answer

-

—
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Problem

1. 8 + -2 =

2. -12 + -3 =

)ﬂ 3. 9 +-38=

Dy 18 + 5=

5. -8 + -1=

6. -20 + 4 =

7. -186 + -8 =

8. -14 + 2=

9. 18 + 3=

10. -16 + -2/ =

11. -6 + -2=

2. 4 -4 =
\=
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Dividing Integers

Problem

8 + -2=
-12 + 3=
9 +-3=
15 + -6 =
8 + -1=
20 + 4=
-6 + -8 =
-13 + 2=
18 + 3=
-16 + -2 =
8 + -2 =

§ + -4 =

Rule
Different

Same
Different
Different
Same
Different
Same
Different
Same
Same
Same

Different
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Solving Problems with Integers

Problem Answer
-33 + 11 =
-2+ -6 =
-12 X - 12 =
6 + 6 =
4o- (-7) =
-80 + -I =
-10 + 10 =
2 T
7 - (-19) =
-40 - 12 =
16 X -2 =
-3 X -3 =

SO
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Solving Problems with Integers

Problem
-33 + 11 =
-2+ -6 =
-12 X - 12 =
6 + 6 =
4- (7)) =
-80 + -I =
-10 + 10 =
2 T
7 - (-19) =
-0 - 12 =
16 X -2 =
-3 X -3 =

Answer

SO
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